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GROUP—A

@—oaUs!

' ' i under
i llowing alternatives given
it vy 1 Hy the correct answer

i 1 era
ch bit, write S :
< I serial number against

ith its
sloea ™ 1x12=12

each bit : ~ _
agfec o@ g4qsa ges QRggeq cug <2

g§a GAQ Q@ 22, Q0] AaR GIIFEEE & :

(a) Income and Expenditure  Account
reveals

210 6 Q4B B9 gRld QER

(i) profit . de’
o) %% g\)‘\

(i) loss

() excess of income over expenditure

QD QTER AR ARGY

) (iv) capital
1 qg |

! {Cmm’nut‘i”
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(b)

(c)

/207-B

Donation received for conducting a
health camp, is

6O qIgy GR0 K6 AR fRYl QIR
26 IR
(i) income
]l
(i) expenditure
Qe
(iii) asset
aqana
(iv) liability
QIR
When depreciation is charged under
diminishing = balance ~method, 'the _
amount of depreciation

6KEQ6QER RIAAIF QPR GAIRIER JMYRIQA
QAUAIN, MLIA QIS

() remains constant
ga Q6%

(i) decreases year after year
dq @d QA g

(i) increases year after year
Qdq Qd @& aid

iv) increases and decreases
QR AN 9Q° QIA QI

(Turn Over )
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(d) Trading Account rcveals
QIR RAIR GRS Q2214
(i) cost of goods manufactured

QQITe 9} YL

(ii) gross profit
ge aIe

(it} net profit
Q% QN

fiv) appropriation of profit
QIR IR

fe) Debenture holders get
QEAFAURIAIEE QIS

i) profit
Qe

(i) salary
6Q0R

(iii) interest

q \66
- Q>
fiv) mﬂm:ulcn)l\e\%%

( Cunll'"”""i
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() Receipts and Payments Account is
prepared in licu of

Qg 6 9P §AQ AT FURER YL 6
2N, CI9l 620R

(i) Profit and Loss Account

Qe 68 8¢ L9

(i) Manufacturing Account

QYR LA

(iii) Trading Account

MIARe L9

fiv) Cashbook
6URR-QF

(g) Preference shareholders get

PGIRRIAGY AGAGUIQIRNIEE QIRUB
(i) interest |/ <

(i) dividend ;/ QRIS

(itf) salary / GQOH

{it) commission / @FER

/207-B
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() Stone quarry is a
Qg 6l 69189
(i) liquid assect
R atand
(i} current asset
992 afand
(i) wasting asset
A0g afand
{iv] fictitious asset
QR 0daad
{ij  Prepaid insurance is a/an
9eU9R Al 6908 69159
(i} expense
1)
(ti) asset
QNG
(tif) income
218
() liabilicy
1Y)

/207-B
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(i} Outstanding Rent Account is a

QERdl OF TAIF CRAT 6T

(i) Personal Account
QFYea ¥QQ

(i) Real Account
QIge aae Qe

fiti) Fictitious Account
Qghe 8Qe

fiv) Representative Personal Account
ge1e uagee 919

(k) Expenditure on installation of a new
machinery, 1s a
66T Qe JRAG JegIdnl & EREE @

(i revenue expenditure
2695

(i) capital expenditure
QEIs QUG

(iiij) revenue receipt

26q8ac QI

{iv} capital receipt
qgfhae QI
/207-B { Turm Over )
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() Depreciation is charged on
qRigia QI9 Q68 QAGe FAAN, g

6RAR
(i} current asset / 9W3 g[alefsis

(i) liquid asset / Q9@ QR4dAk
(iii} fictitious asset /QIgh@ 9RAAR
(iv) fixed asset / QIG1 9QQAR

2. Answer the [ollowing questions as per
instructions given under each part and bit :
1%12=1.

JeEN@ QIAER gom AQERN ¢eI9R {RAYe
gg97ea @ea I :

(@) Correct the underlined portions of the
following sentences :

CORGe  QIRIgRRe caMIRe  a%dQ
QEENR !Q

() Mine is a current asset.

@8 69159 Qa3 agana 2egl

(i) Outstanding subscription is an
income.

WRA QIR 6QITY EJIEA deq|

ﬁfl} Annual rcpalr tﬂ an e\nslln"
building is q capltal expenditure:
Q901 6Rl09Ga AFe aqnd «F

@ gt_’_f@ NG 2IEe|

(2078 ( Canl.’iﬂuﬁi
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(b) Fill in the blanks of the following
sentences :

FANYE QIRIZEaa gaigie gad G :

(iy) Calls-in-arrear is a/an :
Qeadl digie aALG|

(v Under fixed capital method,
Capital Accounts always show
balance.

da 9F gasiea g& @ae Qe
QRal QdlaN!

(vi) Additional expenditure on

extension of an existing building
is a _ expenditure.

caIGd QAIeR 6RO AFAIRE 6o
@ QuS 263!

c) Answer the following questions in one
word/term each :

QORge gesi! gee @ed caIca aR/
ge6a @d :

(vijj Name the account 10 which the
balance of Income and Expenditure
Account is transferred.

210 3 40 QQIea SRl 60Q 9QAIe]
2506 @AY, OINR AN @'a?

/207-B { e Over )

Scanned with CamScanner



(110 )

(viij) Which additional  account iy
opened, in addition to the Capital
Account, when the capitals are

fixed?
Q& ga agesn, Qf Fae aWe um
ce 20R9 FAI9 6HIRIAIN?

(ix} Which ratio is calculated when

partner retires?

F60 QIR AAR EFF ANACR
699 2QAI0 Rga FRANQLIT?

{d) Answer the following questions within
one sentence cach :

g60iaq 691G QIRIER AIfe QY FORYS
gageee eeq Qo

(x) What is authorised capital?
QG Y& )'a?

{xif Why is a Revaluation Account
prepared?

gregauas Qe QFR  gge
PRIAN? i

(xti) Define partnership.
QAN QR gUAT @Al

/207-B { Continued )
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GROUP—B
H—aaUe
3. Answer any ten of the following
questions within 30 words each : 2x10=20

deeiqg Mol 48 Auea QUHG QY AaRYe

gagee qug 6a6alad @ada wea 4 -

{a) What is ‘subscribed capital'?
209e Q& @99

(b) What adjustment entry is necessary
for ‘outstanding expenses’'?
‘QERAI ' AN 69 AT 97§
dledil 6RIR2IN?

(c/ What is the meaning of legacy’?
‘Fad'a 2d R'a?

(d) How is ‘specific donation’ treated 'in
accounts?
‘Fhe QR YQIQee 9@ QAINd?

(e} What do you mean by ‘residual value’ of
an asset?

e QRQAAR0 ALY gAY’ QEER Q'6
Qe ?

() Why is Profit and Loss Apprupnaunn
Account prepared?

AR 0 A8 gOIRR A QEQ 996
QAU ? )

[y What do you mean by ‘Redeemable
Preference  Share'?

ﬂasﬂlamu AGRKIGYS 2°908" GT6M
@6 9u?

/207-B ( Turm Over )
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(y What is ‘sacrificing ratio’ ?

‘oug @gaIc’ Q'€ aA6G7
)  What is meant bgf ‘bad' debt’?
moceg’ Hee QIem @ ¢ QBN 7

() What do you mean by ‘entrance fec’?

‘geQdial eIl Qacm @6 9u?

(k} Write any two factors 'fo .be considered
for calculating depremaﬂon.w )
gy @@ fga  @QeIae allale]
solQieael 696TI6d QRG QAR emS]

) What do you mean by ‘calls-in-
advance’?

‘AGIN-g19-2IPE *EEN /'d ge?
(m} What is ‘depreciation’?
'GARIQ’ @47

4. Answer any four of the follou;in'g questions
within 50 words each.: | 3Ix4=12

Q6Gieq 808 90 AUea AIFC Q¥ GAYe

ge9ee AU 6a6Rlad gsaifa aaa ¥

(a] What is ‘pro rata’ allotment of shares?
grga0e 'Qa1gaIee’ a1ees Q'a?

(h) Distinguish between Balance Sheet
and Statement of Affairs (any three).

wanG ag 99 219 g§e Geea fuea
aldw @in (GRCAEE GemId)!

/207-B
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(¢ \What 1s ‘deferred revenue expenditure’?
'@IgEie JagEae g @'a?

(d) Distinguish between Equity Sharc and
Preference Share (any three).

QlRIQE %698 G AGIRRIWY UG
quea Qldey @a1e (6a6Hlad G6RIG)I
(¢) What is ‘capital fund’?
‘B ad’ 94?
(/ Name the methods of valuation of
goodwill.

QRIA JANIBR] AINIQERR 1A ERS

QUR-= .
your Ck gﬁcgwde
Answer any three of the following questions :

8x3=24
GOR%e Q99Re QuQ 6AeMlad TeRITa AR QA :

5. A Ltd. issued 80000 Equity Shares of ¥ 10
each to the public, payable on application
# 2 per share, on allotment ¥ 3, on 1st call
3 and on second and final call ¥2 per
share.  Applications  were  received  for
100000 shares which were allotted on pro
réta hasis. All money due, were received
with the exception of final call on 2000
shares,

Pass Journal Entries to record the above
ansactions in the books ol the company.

[207.B ( Turn Over)
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g Q@ €10 MEER 80000 QARG

ac AGCIR QIR 99RF @6R,
aagca €2, 2leeq

A @
regdg QARG

qQiel agea @ 2eeud 2
aaoca €3, 9d¢ 219069 T3 6 Qo9 Gal

naa aIgeee 2 od €99 &mll 100000
crgagq Qle 2166Q8 AR QIgR Q21990

Ghcq 219ee QalamIl e@e@ 2000 IR
Qgce GA 2Ige Q& quele AAg ad Q19

ganl|
oaR! 9e6a QU9 QAR aI S16aq 9of

emel|

6. Rabi purchased a machinery for ¢ 5,00,000.
Its estimated life is 10 years and its
residual value is cstimated at ¥ 1,00,000. It
is decided to write off depreciation @ 10%
per annum under diminishing balance

method.
Show the  Machinery  Account and

Depreciation Account for the first four years.

@%@ ¥5,00,00069 AT QRUIC Q9 6@l
1719 21960 QDIRIN 10 9 ¥8° IRIQ 26aT
JIE@Q g1 £1,00,000. F1AAIG RV GIMER
A0 10 g8 RIA6Q (MY AAQIg J1Qe
Gl

fae PIERd AR GRAI0 FAIR ¢ gRIgIa §aIe

6)eles @l
[T

)

&

/207-B ( Continued
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7. Anu and Binu were partners in a firm
sharing profits and losses in the ratio of
3:2 respectively. Their Balance Sheet on
31.12.2019 was as under :

Jq 6 QO QAKEA 3:2 AFAIGER AA ¢ 4
Q8 Q@@ 6NEN QTR NQAIG FYYER]
31.12.2019 QIQE6Q 6AAIRE QYA 9Q

QUAES 2R -

Ligbilities (QU€1) 5 Assets (0@as@) ¢
Sundrv creditors 1,20,000 Cash in hand 50,000
RN ALiee fOQ 0280
Bills pavable 30,000 Cash at bank 190,000
€0 48 NS LR
Reserve fund 2,10,000 Bills reccivable 90,000
QLT 0@ g1y 94
Capitals Sundry debtors 2,10,000
QU QoY @ew
Anu 6,00,000 Closing steck  2,70,000
bl 2By aARIS
Bi;u 4,80,000 10,80,000 Furniture 70,000
=] L eee
Machinery 5,60,000
aRaIg
14,140,000 14,40,000

On the above date, they admitted Chinu as
a pariner for one-fourth share in future
profit. Chunu brought £ 3,00,000 as capital
and ¥ 90,000 towards his share of goodwill,
For thus purpose, closig stock was valued

/207-B { Tvirn Quer )
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at ¢ 3,00,000; furniture at 60,000 and
machinery at ¥ 5,20,000.
Pass Joumal Entries for the

above
transactions and prepare the

opening
Balance Sheet of the reconstituted firm.

QACAIY CIRNER, 6AMNER TgT 68 QNI
V6L GRG F6R, VNG SRAE NG I@-gad
QUIARI 99 9f QIeeq ¥ 3,00,000 Y& OIS QI
QRN QI9Qq ¥ 90,000 AIFERI YT QERER, 2UGY

4RI ¥3,00,00061, 2AKNG T 60,00060 G

Q340 ¥ 5,20,0006Q AU cRIRAA]

QU9 RS RNQAA N F6QGI YT QY 1e°

9908 QYeQIn gowAR 9998 ag 9g6 @al

- Distinguish between  Single-entry  system
and Double-entry system of book-keeping.
2QI9 QYRR I9R-93d A8 6 676-938 asd
AUEQ IRy @izl

9. Distinguish between Receipts
Payments  Account  and
Expenditure  Account.

and
Income and

91 6 R AL 90 21D 6 MO TAL Aleq
DA Gae|

A 4
2011 (207.R) 803 R/ /DER/E)
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